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1 The molecular mass of SO; is : 1. SO, BT 31Uad ST II?
(A)30u (B) 64 u (A)30u (B) 64 u
(C) 32u (D) 46 u (C) 32u (D) 46 u
2. Empirical formula of benzene is: 2. SoIA @l ﬂﬂljuldnl Hﬁ%z
(A) CeHe (B) CoH2 (A) CeHe (B) CoH2
(©) CH (D) CoH4 (©) CH (D) CoH4

3. The volume of one mole of a gas at

NTP is:
(A) 11.2 lit (B) 22.4lit
(C) 5.6lit (D) none of these

4. The number of moles of solute present
in one litre of solution is known as:

(A) molarity

(B) molality

(C) normality

(D) mole fraction

3. NTP R U HId I &1 3RId- 8idl 8

A) 11.2 ferex (B) 22.4 TeTex
(C) 5.6 ferex (D) 378 A BIs 8!

4. TS forex foaa | Sufyd faeg & At
IS B PEd§

(A) HIERdT
(B)

(C) e erar
(D) HIdT =T




10.

Which of the following does not
change with change in temperature?

(A) molarity

(B) molality

(C) normality

(D) none of the above

The amount of CO; that could be
produced when one mole of carbon is
burnt in air is:

(A) 229
(C) 449

(B) 50g
(D) 569

Avogadro’s number is equal to-

(A) 6.022X10 %
(C)6.022X10%°

(B) 6.022 X10 %3
(D) 6.022 X10 %'

The electronic configuration of sodium

atom (Na) is:

(A) 1522522p63s1
(C) 1s%25°2p°3s?

(B) 1522522 p6
(D) 15°2s°

The orbital with quantum number
n=3 and |=2 will be

(A) 3s
Q) 3d

(B) 3p
(D) 2p

Which atom is indicated by the
Configuration [He] 2s'?

(A) Be
) B

(B) Li
(D) C

(9]

9.

. 99 9 B Ao & 1Y uRafdd gt
HGIE

(A) HIeRdT
(B) HIGaIdT
(C) ATHar

(D) TH ¥ BIg &l

. U Hid Bl & gg1 I CO, T
I HET B :

(A) 22g (B) 50g
(C) 4449 (D) 569
. TANTIG YS SRISR §
(A) 6.022X10 * (B) 6.022X10 %
(C)6.022X10%° (D) 6.022 X10 %!
QfSTH TRATY FHT Faae b fau § -

(A) 15%25°2p°3s’
(C) 1s%25°2p°3s?

(B) 1s°25°2p°
(D) 15°2s°

BHITCAT N =3 3R =2 dreit
JUHED BT :

(A) 3s
(©) 3d

(B) 3p
(D) 2p

10. [He] 25" fa=aT9 qTeT URHTI] BT

(A) Be
B

(B) Li
(D) C




11. Which of the following is lowest
energy subshell?

(A) 3d
(€) 4p

(B) 4s
(D) 5s

12. How many protons are present in
Mg ( Atomic no.- 12, mass no.-24) :

(A) 24
(©) 10

(B) 20
(D) 12

13. The Bohr's radius of first orbit of
hydrogen atom is:

(A) 0.629 A
(C) 0429 A

(B) 0.529 A
(D) 0.329 A

14. The wavelength of the radio wave
having frequency 3MHz would be:

(A) 100m
(©) 100nm

(B) 300m
(D) 300nm

15. Which of the following ions will have
largest size?

(B) OF
(D) F

(A) Mg 2+
(€ AP*

16. Which group of elements is commonly
known as halogens?

(A) Group 16
(C) Group 13

(B) Group 17
(D) Group 15

11.

12.

13.

14.

15.

16.

S0 I gAdH Soll ATl SUBED |

(A) 3d (B) 4s
(C) 4p (D) 5s
Mg ( URHTY] TRAT — 12, SHH TAT -~
24) HUCH B IBATR
(A) 24 (B) 20
(©) 10 (D) 12
TS SIS IR o TYH IR H&DH Dl
ﬁGCIT% :
(A) 0.629 A (B) 0.529 A
(C) 0.429 A (D) 0.329 A

3MHz 3T arel ST a1 &t e
Gl

(A) 100m
(©) 100nm

(B) 300m
(D) 300nm

9 O foo g 3 &7 PR T §31

BN ?

(A) Mg ** (B) O*

€ AP* (D) F
T THg & ddl &I gaod & A
SEISIAT g ?

(A) T8 16 (B) 9 17
(C) 9z 13 (D) 99 15




17. Which of the following configuration
has highest ionization energy?

(A) nsznp2
© nsznp6

(B) nsznp3
(D) ns‘znp1

18. An element with atomic number 35 is
placed in which period of the periodic

table?
(A) 3 (B) 4
) 2 (D) 1

19. Which of the following has highest
electronegativity?

(A)F
()N

(B) Cl
(D) O

20. How many groups are present in the
modern periodic table?

(A) 15
(©) 10

(B) 18
(D) 20

21. Equal volumes of all the gases under
same conditions of pressure and
temperature contain equal number of
molecules is known as:

(A) Charle's law

(B) Boyle's law

(C) Avogadro's law
(D) None of these

17. Fufafad # foog fomamg ot s ot
RBaH g ?

(A) nsznp2 (B) ns.znp3
© ns‘znp6 (D) nsznp1
18. T dcd Torgah! TRHTY] T 35 ©, P
3fTad GRUY & g 3nad A @1 Srw ?
A) 3 B) 4
€ 2 (D) 1

19. fafafad & feget faggd undda
HfYFHIT | ?

(A)F
()N

20. MY 3Mad IRt & T Ht 4= |

(B) Cl
(D) O

(A) 15
G 10

(B) 18
(D) 20

21. T gl a9 3R gid R gt 19} & gu
&ﬁngiq%ﬁ&rugsﬁaﬁﬁwwé‘rﬂ%,

(A) I BT FTH
(B) d19d &I fAgH
(C) wanTal &1 fam
(D) STH I BIS T5I




22. PV =nRTis:

(A) ldeal gas equation

(B) Real gas equation

(C) elementary gas equation
(D) none of these

23. The numerical value of gas constant 'R’

depends on

(A) the nature of the gas

(B) the temperature of the gas
(C) the pressure of the gas

(D) the units of measurement

24. A gas which obeys gas laws at all
range of temperature and pressure is
called

(A) Real gas

(B) Ideal gas

(C) Noble gas

(D) none of these

25. For 'n"” mole of real gas the vander
waal’s equation is:

(A) PV=nRT
(B) Voo n

(C) Poo1/V

(D) (P +an?/V?)(V-nb)= nRT

26. What will be the minimum pressure
required to compress 500dm? of air at
1 bar pressure to 200dm? at 30°C ?

(A) 3.5 bar (B) 2.5 bar
(C) 700 bar (D) 900 bar

22.

23

24

25.

26.

PV =nRT T :

(A) 3MTE T FHHT
(B) dRAfdp T FHIHT
(©) WU g gHieum
(D) STHI DI Tal

. 9 -RRI® (R) &1 Fifdas aF AR
AR :

(A) T &1 Uopfd IR
(B) T & dTIHM TR
O NTTHIE W

(D) HTY & 3hTs3M TR

. BTN U g T R T &
Ao BT U PRI T I PEd ©

(D) 3TH Y PIS gl

'n' Al IRAfd® T & T afer ard
mﬂw%:

(A) PV=nRT
(B) Voo n

(C) Poo1/V

(D) (P +an’/V?)(V-nb)= nRT

30°C AU TG 1 bar &4 W, a1 &
500dm? 3TIdd &I 200dm’ d&
TS B & folE fba gAqd a9
D1 SIIH T BHIT ?
(A) 3.5 bar (B) 2.5 bar
(C) 700 bar (D) 900 bar




27.

28.

29.

30.

31.

32.

V/T =constant is :

(A) Charle's law
(B) Boyle's law
(C) Avogadro's law
(D) None of these

Which element will show diagonal
relationship with Be?

(A) Mg
Q) Al

(B) Na
(D) Ca

Which of the following is an
amphoteric hydroxide?

(A) LIOH
(€) Ca(OH)2

(B) NaOH
(D) Be(OH),

The basic strength of which hydroxide
IS maximum?

(A) NaOH
(€) Ca(OH)2

(B) LIOH
(D) KOH

Outer electronic configuration of
s-block element is:

(A) ns'
(C) ns'?

(B) ns?
(D) nsznp1'6

What is the IUPAC name of the
compound CH3;CH,CH,CH(CI)CHO?

(A) 4- Chloropentanal
(B) 2-Chloropentanal
(C) 2-Chloropentane
(D) 2- Chloropentanone

27. VT =RR% 7 :

(A) T T |
(B) S1ad &1 oH
(C) TaNTs! &1 fAgw|
(D) STH A IS 5!

28. U A o I 9 IRFrIH (Be)
1y faemul deie UelRid #rarg ?

(A) Mg
Q) Al

(B) Na
(D) Ca

29. fgfefad & ¥ &1 Iyaywf
HESIENIEERN

(A) LIOH
(€) Ca(OH)2

(B) NaOH
(D) Be(OH),

30. ford BTS SIS S 3! &Y fad
fYHIA R ?

(A) NaOH
(€) Ca(OH)2

(B) LiOH
(D) KOH

31. s—sdlldh dcdl BT dTgl 3aae b fa=mg

.

(A) ns'
(C) ns'?

(B) ns?
(D) nsznp1'6

32. CH3CH,CH,CH(CI)CHO T IUPAC AT &

(A) 4- FARMUeAA
(B) 2- ]

(C) 2-

(D) 2-




33 . Which of the following is an
electrophile?

(A) NH3 (B) CI
(©) OH (D) BFs

34. What is the hybridization of carbon
atom in methane molecule?

(A) sp” (B) sp’
© sp (D) spd
35. Which of the following exerts +I
effect?
(A) —CH3 (B) CI

(C) =NH; (D) -NO;

33. S99 I B FaGeRAN g ?
(A) NHs (B) CI
(C) OH" (D) BF;
34. T SOy & *C' URHATY] T HHUT &1 &2
(A) sp’ (B) sp°
©) sp (D) sp’d
35. STH A B +| UHTG ST § ?

(A) —-CH3 (B) CI
(C) -NH; (D) -NO;




